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Dimensions in mm
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PC44EPC25-Z 1560+25% (1kHz, 0.5mA)* 1.11 max. B63W (100kHz)
PC50EPC25-Z 1080+25% (1kHz, 0.5mA)* 0.32 max. 127W (500kHz)
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AL-value(nH/N2) Air gap length(mm) Total loss Pm(W)
e ; . Note: ;BE FEF7—&I4, [EE#1 400x300x300cm
NI limit vs. AL-value ({f£&H) AL-valuevs. T7 F v v TR (HEH) DIGRIER (25°C. 45(%)RH. | DEAT
PCS0EPC25 117 (4 v /1) PC50EPC25 11 7 AELELL
_I_‘ T T iTTT = T o 103
emperature: 100°C Measuring point
102 \ Core
A ST
o \Qentsr pole gap : \) :
?: Z_ \\ - 1 0 —-
= z N 10
E g ‘g‘ 102 i ' \ Coil
= \‘Q;\ g
102 Rydoe =
SHP0%Ns
=
X%
AN
102 103 i 0.1 1
AL-value(nH/N2) Air gap length{mm)
Note: ZDT'Z ZICRetATH BRB4EIL. RFE FlERM
IEHW T BRI ETRDOEL L BR TH B 55 = JA /D 0.2 2UEW 100Ts

FHEL, FAD20% HLU 40% 270 « BIRE [ 1kHz
JEREDH RO E & Alvalue DESFELZEDH « B 0 0.5mA
LFH,

ABRELVELC, RRICTERVES LBIC. &SI - 35 CHEL R SMALBE R HU CHR FEL.
REERARE, ARTOMICLYFERCEETLEEHABEVETOT. HB5HLHTTHRIHETL,
NN2-072 / 20050114 / i1 4R



